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@ A Use the tallg chart to complete the bar graph

T otal Wms .' T

Total Wms g
"Teams = | Number of Wms 1
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_Use the data |n the bar graph to answer the ques’oons below
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,'.Solve each problem
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Unit 1 .AsseSsment r;c;mga)- IR
@ For each number storg, _draw a sketch and wrlte the. answer
Tnen write @ number model to fit the s crgj e

| :‘ a. Mateo has 6 new cans of tenms balls
in each can there are 3 tennls balls S
How mang tennrs bal!s does Mateo have rn aII’P ,

Number mode

b Anne sketches 5 rows of flowers on her page wrth 6 flowers
m each row ch mang ﬂowers jdbes she sketch m aII'?
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' 7- She sketches BO flowers ‘
Number model BX 6 30 -
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Umt 1 Assessment (contmued)

o @ Angela starts dance practlce at 3 05 P.M. and flnlshes at 3155 . M s
. ‘Shedrewan open number llne and used It to fmd the iength of
' her practlce e

o HOWIOI'IQ IS Angela S dance practlce'? R O : mlnutes ]Ong

@ i_Round each number to the nearest 10
' i'A':__';_.You mag use epen number Ilnes to he!p
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Um& 1 Assessmem (contmued)

. Round each number to: the nearest 100
| Veu mag L'=e Qnen number hnes to. help

a.. 423 rounded to the nearest 100 13 !‘T Q oL
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Unnt 1 Cha!leng e (contmued)
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| ﬁ Solve You. mag use. gour toolklt clock or an open number llne o
| to help gcu Show gour work o » S

Evan starts basketball camp at q 15 A M. R
He flnsshes at 345w, e T Dotea

. ch mang hours and mmutes does Evan spend at camp’?
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.ch can help him
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6 >< 10 means 6 equal groups of 10

f Explaln how Mancel can use-his answer to 6 X 10
: __-to flgure out what 6 X5 wculd be '
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c. _Explaln ancther wag that Manuel cculd solve 6 >< b
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